Y3 Homework 17 Answers

COMPREHENSION 21. trout Fobin >herring, cod. pike FULL STOPS AND

KOALA CAPITAL LETTERS
1.d 22. rabbit, badger_otter,fox, hare 41. b
2. b | | 42. a
3 ¢ 23. peach, pineapple, pear, potato; plum 43. ¢
4 3 L 44, a
ONE MAN’S HORSE 24. oyster, mussel octopus; periwinkle, whelk 45 b
5. b 25.kangaroo, mule, pony, donkey
6. a SPELLING
7 d 26. necklace, ring, braﬁelet
8' 4 acommodate accomodate
9. : 27 f 47 calender calendor

: 28.cC |
10 C 29 b 48. beleive beleave
11. b 30. d 49. cemetary cemetry
12 d 31 e E:-C completly completley

32. a 51 bizarre > bizzare bizare
NOUN 33 b _ |
13.C 3 4 52. dissappoint dissapoint
14. e 35 Z 53. definitaly definately
15. g 36 g 54creferred > refered reffered
:Ilg 3 37. 1 5§ Surprise> suprise surprize
18 h gg g 56. persistant persisstent
19. f 40 c 5? posession possesion
20 b . 58. rember remeber
59. sence sensce
60. knowlege knowlegde



100 TIMES TABLE

61. 8 x 9

62. 3
63.
64,
65.
66.
67.
68.
69. 12
70.
f1. 3
72.10
73.

4.

5. 12
6. 3
7.1
8. 6
9. 9
80. 5
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SHORT MULTIPLICATION

10 94
x 4 X 2
| 81.( 44, 42, | 34.:1?3, 168 )
93 65
X 9

X 9
| 82. { 827, 817) | 35.(5?5, 595 )

17
X

8
| 33.{125, 146 )

LONG MULTIPLICATION

44 11
X 17 X 71
86.( 768, 758, } 89. @ 771, 761)
34 14
X 75 X 51
87. { 2250, 2520) 90. ( ?15, 712)
38
X 35

| 88. ( 1230, 1430)



LONG DIVISION

91.378 + 9

92.
93.
94.
95.
96.
97.
98.
99.
100.

42
4388
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158
258
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468
552
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OPTIONAL ANSWERS

100 TIMES TABLE 2y 6= ( 40, 4 ) 5x12=___ (36 48, [60))
3x 9= (18, [ 27) 36 ) 4ax11=__ (48] 34 24 3x 7=__ ([21] 28 35
10 x 11 = (101, [110, 111 ) Txi2=___ (80, 82 [8]) 2x 7=__ (82 86 )

5] 7= 58, m 54 =
12 x 11 = (132, 143, 153 ) e %6 ] ] 7x 3=___ (2] 28 35)
M x11=__ (121, 111, 101 ) 9% 3= (3 6, [9))
11 5 = 1, 50, 55 = - i |
X — | ) 12x 6=__ (70, 71, [72]) 0 x o - ((90] 99, 190 )
S a— 36, 27, 18 t0x 8=__ (60 70 [B80]) 10 x 4 = ( 10 44 )
_ 4x 6=__ ( 22, 26 ) ’
6 x 11 ( 60, 166 ) 5x 4= { % 36 ) 4 x 12 = ( 44, 46, [48 )
7 x 5 = S { 25! 30! 35 ] 4% 8=__ ( 24, 40 ) B x 4= { 44, 34, :|
11 x 9 = 99, 90, 9 ) 6x 5= _ (30,] 35 40 ) 12x 4=__ ([ 48, 48, 44 )
8 x 11 = ( 80, 88, 108 ) 5x 9= __ ( 35, 40, [ 45]) 3x 6=__ ( 12, 24 )
3y 4 - (o [12] 15 ) 6x 3=__ (12, [18] 24 5x 5= (20, [25] 30 )
- ’ 4x 3=__  ([12] 18 24 _
12 x 10 = (102, 112, [120 ) 5« 10 - (a0, s, [&)) 2x 9=__ (104, 106 [108])
5 x 11 = 55, 50, 25 4x10= (20, [40 60 Wxi12=__ (102 Q2] 122 )
X , : ) x10=__ (2 : 11 x 10 = (0] 111, 101 )
5x 10 = (30, 40, [ 50 ) 2x 5=__ (20, 40, [60])
o 6x 7 = (42, 44, 46 ) Sx 4= (25, 15 )
11 x 3= ( 11, 113 ) T ’ 1x 7= 70, 75, [ 77
M x 4=__ (42 46 ) 1 x — ( 70, . LT7])
Tx 4=__ (14, 21, [28 ) 6x12=__ (70, T, [72]) 5x 7=___ ((35] 30, 25 )
10 x 7 = ( 10, 70, 170 ) 10x 5=___  ( 45, 55 ) 6x 8= ( 46, 50 )
3 x 11 = (33, 30, 13 ) 8x10=__ (80 88 180 ) 8x 8=__ (60, 62 [64])
7% 8 = ( 49 63 ) 7x1t=__ (M, 70, [77]) 9 x 12 = (M08, 106, 104 )
T : x 6=___ (4, [e] 50) 9x 9= ( 72 90 )
ax 4= 16, 18, 20 ) 10 x 10 = (100,] 110, 115 ) ’
— : 3 x 10 = ( 13, 23, | 30])
6x 6= ( 24, 30, 36 ) 10x 3=__ (25 35 ) T
S e 10 o6 63 ) rxt0- (712 m. [To]) 11 x 12 = (122, 142 )
9x 5= 36 54 9x 3=__ (18 36 ) 9x 6=___  ([54] 44 34
X - — (36 ) x 8=__  (72] 63  54) 5x 8=__ (20, 30, [40])
8x 5=___ (24, 32, | 40 ) 12x 8=___ (92 94 [096]) 11 x 6= (11, 116 )



SHORT MULTIPLICATION
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LONG MULTIPLICATION

( 5113 5123@ )

( 2204 2206 )
( 2014 2013 )

( (29822962 2042 )
(746 766 )
(1004 1006 )
(570 580 )

LONG DIVISION

120 =
285 -
195 +
644 -
154 =
248 -
240 -
352 -
455 +
104 =
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